EDITOR (A988)



1. EDITOR BOARD 1 (A988)



1. EDITOR BOARD (A988)

‘ﬁ;x Part No. Description gstgeﬁ%ly 1’\cligx Part No. Description Sstgeﬁwekgly
1 | A9885520 [Main Control Board 1 101 [ 08025194 [Pan Head Screw - M2x6
2 | A988 5560 [LED Harness 1 102 | 0710 0030B | Hexagon Nut - M3
3 | A9885550 |[Interface Harness 1 103 | 08025146 | Tapping Screw - M3x8
4 | A9825054 |Grounding Wire 1 104 [ 08025145 |Tapping Screw - M3x6
5 [A9821064 [Pen 1 105 [ 09513012B | Philip Screw With Flat Washer - M3x12
6 |A9881062 |Edit Key Cover 1 106 | 0414 0104W| Tapping Screw - M4x10
7 |A988 1252 [Upper Cover - A4 1 107 | 08010124 | Screw - M3x12
7 | A988 1251 |Upper Cover - LT 1
8 |A9881260 |Lower Cover 1
9 |A9885530 |Edit Key Board 1

10 | A982 1252 |Original Holder 1
11 | A982 1056 |Pen Holder 1
12 [ A982 1055 [Harness Holder 1
13 [ A988 1071 |Upper Harness Holder - I/F Cable 1
14 |[A988 1072 [Lower Harness Holder - I/F Cable 1
15 | A982 1051 [Editing Sheet 1
16 | A988 1080 |Main Board Cover 1
117 [A988 1300 | Mounting Bracket | 1
18 | A049 1576 | Original Pressure Pad 1
19 | A982 1059 | Magnetic 1
20 | A982 1052 |Base Sheet 1
21 | A9885521 |IC - Main Control 1
22 | A988 1451 | Editor Panel Sheet - English 1
22 | A988 1452 [ Editor Panel Sheet - German 1
22 | A988 1453 | Editor Panel Sheet - French 1
22 | A988 1454 [ Editor Panel Sheet - Italian 1
22 | A988 1455 [ Editor Panel Sheet - Spanish 1
[[237|A988 1310’ | Editor Hinge | !
24 | A988 1066 | Screw - M3x10 12
25 | A988 1061 | Edit Key Ass'y 1
26 | A988 1055 | Spacer 1



Technical Support
Item 17
MB 1: Parts catalog correction

Technical Support
Item 23
MB 1: Parts catalog correction


2. EDITOR BOARD 2 (A988)

N

\/’

=

ge

Siedseserisies \
|
—_

984825




2. EDITOR BOARD 2 (A988)

n’\(lig.x Part No. Description gsts);rﬁglry
1 | A988 5516 | Interface Harness - 115V 1
1 | A988 5510 | Large Interface Harness - 230V 1
2 | A988 5500 | Interface Unit 1
3 | A988 5515 [ Small Interface Harness - 230V 1

ndex
No.

101
102

Part No. Description gstgerpnelgly
11050229 | Clamp
11060241 | Bushing - 6.7mm




